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Chapter 4 Review 
1) Write the following formulas: 

.Yz-;/1 
PI::: -

a) Slope formula: ____ ----~.'it:;!l~-~r.__,._,~-- c) Standard form: A1t ..f /lq = G 
v 

b) Slope-intercept form: --J...q--::. -=m:....=.L.;t"::...:l:'--':.b;L__ d) Point-slope form: cJ (/~ ::: n? (;r-q ) 

2) Graph the linear equation on the coordinate plane on the right. Make sure you use an input/output table with 
at least 3 ordered pairs for each. 

1 
- x + y = 4 
3 It" --J JC -1,c 

5 -3 --j (-,) ;. t{ 
J ;-jidY 

0 -1{") ~t~ tf 

3 -J (~) .} <f :7 

3) Graph both of the equations on the coordinate plane on the 
right. You may make an input/output table ifyou wish. 

a) y = -3 

b) X= 1 

.. 
4) The slope of any line can be written as a ratio that represents its ___L(_!.I...L.5 =(..,=----- over its r v tt 

Tell whether the slope of the line ·is positive, negative, zero, or undefined. Then find the slope if it exists. 

5) 6) 7) 

I I 
I i 

Kind of slope: ---.::.-"....::...:....:...:...::...:__ Kind of slope: Kind of slope: ~ih'v-V 
------'-----

m = V"J~~illld '!:::o 
m = - --"3?----



8) The slopes of parallel lines are the 5t? hi .C 

9) What is the slope of a line that is parallel to the line: 

a) y = 3x- 4? b) 3x- Sy = 15 
- $p -.f;K 

l-m:; ~ J -~-Si -= -3~;!) 7 
-'r h; ?-
J ;: f ;K -3 

1 0) Find the slope of the line that passes through the points. Write your answer in simplest form. 

:}_ 
a) (-2, 0) and (4, 9) m = _ __ Z...:::::.____ 

9-o ? 
yn- --- y .. ..z. - 6 

ITI 
c) (-5, 2) and (-5, 7) m= 

..1-
b) (2, 11) and ( -1, 1 0) m = ------J.b~{'---

111-:: /0-11- -1 --7-Z -3 

m 
d) (4,6) and(-2,6) 

m~ b-t :: o 
-z-Y -{:;. 

11) Jenny wanted to buy a bunch of hot coco as for her friends. The number y hot cocoas you get from x 
dollars is represented by the equation y = 3x. 

a) Make sure to: I 0 I 

• Label you axis. 

J 
~ 

• Use at least 4 ordered pairs. tJ 
7 

~ ' ~ 5 
~ 

b) Interpret what the slope means in this problem ~ I{ 

I 
I 

I 

I 
I 

1/ 

For uery .1./hr/ 1"' '7/""' 
j, 

z... 

j! rn 'fJ 3 Aol Coco~ 5 -

I 
I 

1/ 
0 Z..3 y ,-- {. 7 'it tfp, 

:tt .l}t' a0'~_s 



Graph each equation using the slope and they-intercept only. 

16) . 3 
y=--x+4 

2 

17) 

Rewrite each equation in slope-intercept form. Then graph. 

y=-4x+5 

18) 2x+ y = 3 19) 6x-3y = -9 
~z7 --z?C 

:;:.-2~/d 

Identify the x-intercept and they-intercept of the graph. 

20) 

x=intercept : _· ----=-{_Z+1_0....L)_ 
y-intercept: { &,~!) 

• 

21) 

x-intercept : 

y-intercept : 

~~ -t,.y -y '-h% -1 
-3 

:J :: 1-'Y i-3 

x-intercept : 

y-intercept : 



Find the x-intercept and they-intercept of each equation, and then graph it. 

23) -4x+5y =20 

(~o) (~,~) 
-'f%-1-J(6) ::ZO 

---'1(1) ~-~ ::20 
-'(){ -:ZO -- !j_~~ -r .. c( 

r ::.,{" s- } 
:t ~ r 

x-intercept : ( -7; 0 2 , y-intercept : {_ ()l t; 2 
' 

24) 6x-3y = 12 

{-r_ b) 
I 

(b/'1) 

'1C' J(6) :: /~ (,{6) -5y -::IZ-

~,-;.fl.- ~:;~ --" I# -.J -> 
'/(:::-/, :;::-Y 

x-intercept : (ZLOl 
/ 

y-intercept : Co,,r:) 

Write an equation ofthe line shown in slope-intercept form. 

25) 
. ' " y 

iO, 4} \ 
-3 

, ..... , .•. , I \ · 
!2 f\ 

. 

i lit ........ X 

28) Write the equation of a line 
that passe~t gh the points 
(3 , -2) an (0, 6 in slope­
intercept o m. 

:J O::f11~lb 
'I~ ':fl /..- ·Z. - ,..$-

, ':-JC__ - ~- .5 
Yt-~, - 0'3 

26) 

cJ == r-Y 

27) 

30) Write the equation of a line 
that p~ough the · 
point(_(-~, Sy and (-2, -3) in 
slope-mtercept form. 

-3-S'" 
::-:: 

-z. -"'Y 

~z-::11 -{,-$ , -1¥- -..Z 
)'11-.c---~- -~ 

- ~~- -y, - 9--1 /o :;-5'::: -¥('):",t~) 
) -5 == -V;t;-//; 

.j.{' _,If 

.. 

:'· . 


